
              USA Industrial Vacuums
WNS Series                                                                                                                           
Parts Manual

Model No.

Serial No.

Filter No.

Start-Up Date

























50mm INLET

PART NUMBER DESCRIPTION QTY
31963 INLET,50MM, GFK BLACK PLASTIC 1
20006 INLET,50MM,ALUMINUM 1
34870 GASKET 50MM INLET 1
20021 INLET DEFLECTOR,50MM,METAL 1
32988 #8 X 1 PHIL TRUSS HEAD,ZINC 4
20025 WASHER,STAR LOCKING,M4 1
25057 M4X20 SOCKET SCREW CAP 4

70mm INLET

30007 INLET,70MM,ALUMINUM 1
34821 GASKET,70MM INLET 1
30008 DEFLECTOR,70MM,ALUMINUM 1
32866 M5-.8X30 SOCKET CAP,ALLEN HEAD 3
32863 M5-.8X20 SOCKET CAP SCREW 1
32867 M5 EXT TOOTH LOCK WASHER ZINC 1

100mm INLET

35188 INLET,100MM,ALUMINUM 1
34918 GASKET,100MM INLET 1
35189 DEFLECTOR,100MM,ALUMINUM 1
32867 M5 EXT TOOTH LOCK WASHER ZINC 4
32866 M5-.8X30 SOCKET CAP,ALLEN HEAD 3
32863 M5-.8X20 SOCKET CAP SCREW 1


